
 

 

 

          WINCH MOUNT INSTRUCTIONS 

 00-02 YAMAHA KODIAK 400 ULTRMATIC 

 

 

                     

 

NOTE: Fairlead is not included with this kit 

 

 

Remove the skid plate from the front bumper and under frame. 

 

Install the main winch mount plate to the inside of the bumper and the back side of the 

bumper tabs using the 3/8 x 3/4 hex bolts, washers and nylock nuts in the top tab location and 

use the 8mm x 25mm hex bolts in the bottom where it threads into the frame tube. 

 

Install winch and orientate so the cable will spool of the top of the drum, this will put less 

stress on the cable. 

 

Install the fairlead bracket with the 5/16 x ¾ hex bolts, washer and nylock nuts, this bracket 

can go either way for fairlead to be straight or lean forward if using to pick up snow plow. 

 

Reinstall the skid plate and tighten all bolts. 
 

 

FOR QUESTION OR COMMENTS PLEASE CALL: 320-964-1616 (7:00 to 4:30 CST )                                                    INST1542 

ITEM QTY. PART# DESCRIPTION

1 1 1542-1 Main Mount Plate

2 1 1542-2 Fairlead Mount

3 2 HDW1054 8mm x 25mm Hex Bolt

4 2 HDW2106 3/8 x 3/4 Hex Bolt

5 2 HDW2050 5/16 x 3/4 Hex Bolt

6 2 HDW7058 5/16 Nylock Nut

7 2 HDW7061 3/8 Nylock Nut

8 2 HDW9002 5/16 Flat Washer


